
Grade 2 Word Problems

Name: ____________

Solve the equations.

Worksheet 2

1. Sarah bought 3 Christmas presents for her 

family. One was priced at $31, another was $40, 

and the last present was $19. How much did she 

spend for then three presents? 

______________

2. Jay’s clothing shop has 3 special jackets on sale. 

One is $16, one is $22 and the other is $43. How 

much are they altogether? _______________

3. Ian has three snack jars full of yummy snacks. 

The first jar has 17 lollipops, the second jar has 

30 cookies and the last jar has 34 chocolates. 

How many snacks does Ian have altogether? 

________________



Grade 2 Word Problems

Name: ____________

Solve the equations.

Worksheet 2

1. Sarah bought 3 Christmas presents for her 

family. One was priced at $31, another was $40, 

and the last present was $19. How much did she 

spend for then three presents? She spent $90.

2. Jay’s clothing shop has 3 special jackets on sale. 

One is $16, one is $22 and the other is $43. How 

much are they altogether? They are $81.

3. Ian has three snack jars full of yummy snacks. 

The first jar has 17 lollipops, the second jar has 

30 cookies and the last jar has 34 chocolates. 

How many snacks does Ian have altogether? He

has 81.


